Trường THPT Lương Thế Vinh                   Đề kiểm tra 1 tiết 

Tổ Ngoại ngữ                                                  Thời gian : 45 phút   
Mã đề :246                                     ĐÁP ÁN
I/ Trắc nghiệm:
Choose the phrase or sentence a, b, c or d that best complete the conversation:

1. A: Relax, Harry. Everything will be alright.

B: _____________________________________.

A. I'm glad you say so


C. Thanks, John. But I am really upset
B. . It's OK. I'm proud of you

D. Thank you. You deserve it.
2. A: “This is a souvenir for you. I bought it when I was in Scotland."

B: “________________________________________________”.

A. Thank you very much. It’s so beautiful.

B. My pleasure. It's really nice.

C. Don't mention it. It must have cost a lot.

D. Thanks anyway.

Choose the sentences a, b, c or d which is closest meaning to the printed one:

3. I sent my car to the service yesterday and will take it back today.

A. My car was sent to the service yesterday and will take it back today

B. I  had my car repaired yesterday and will take it back today

C.  My car has been repaired yesterday and I will take it back today.

D. My car will be taken back today after having repaired yesterday.
Choose the word that has the underlined part pronounced differently from that of the others:

4. A. interviewed

B. finished

C. worked

D. dressed
5. A. certificate

B. central

C. decision

D. social

6. A. character

B. challenge

C. technical

D. psychology

Choose the word that has the main stress placed differently from that of the others:

7. A. considerable
B. engineering 
  
C. economics

D.  academic

8. A. university

B. international

C. agricultural             D. philosophy
Choose the word or phrase a, b, c, or d that best completes the sentences:

9. Were you getting _______ well ____ your schoolmates when you were at Primary school?

A. On/ with

B. of/ with

C. with
/ on  

D. about/ on

10. ________ must satisfy the requirement for admission to the university.

A. Applications

B. applicators

C. applicants

D. Applying

11. Whenever something goes wrong, everyone ​​​​​​​________ it on me.

A. blames


B. charges

C. insists

D. accuses

12. Had he not shown such a blatant disregard for company regulations by smoking while on duty, he ________.

A. wouldn’t dismiss


C. wouldn’t be dismissed



B. wouldn’t have dismissed

D. wouldn’t have been dismissed

13. Is that the man ______ was broken into three days ago?

A. whose house



C. the house of whom



B. . who’s house



D. of whom the house

14. Why don’t you have the internet________ at home? This will help you enhance your study tremendously.

A. install


B. installed

C. is installed

D. have installed

15. ________   in the country before, we were initially confused about the value of each coin..

A. Having ever been


C. Having never been



B.  being never



D. Being ever
 16. The bridge……………………two years ago has just been destroyed.

             A. which it built
             B. built
          C. to be built
     D. building
        17. Trees won’t grow …………………… there is enough water.
            A. as
            B. unless
          C. if
     D. when
18 .When being interviewed, you should concentrate on what the interviewer is saying or asking you.

          A. be related to 



B. be interested in

 
    C. pay all attention to 


D. express interest to

      19. They have just found the couple and their car _______ were swept away during the heavy storm last week.
           A. that 


B. which 

C. whose 

D when

      20 ______ it were well paid, I would accept this proposal.

                A. Providing 

B. Unless 

C. But for 

D If only
Find the mistake:

21. We are working, that means that we are contributing goods and services to our society. 

            
                   A                 B                        C                                    D
22  When GCSEs are taken' in secondary school, they can often combined with other 
        A                                                                                                     B           C

      qualifications, or diplomas.       
                 D                                                                                                                                                                                                                                                                                                                  
                Choose the best option for each blank 
Manuel Gonzalez comes from Spain. He usually lives in Madrid and works (23)________a journalist for a Spanish newspaper, but two years ago he decided to take a year (24)________work to live in different countries in Europe and write a book about Europeans. He spent the first two months in Scandinavia (25)________information and then moved to Germany for a month. At present he is staying in Paris, where he is renting a flat for five weeks. Four years ago he wrote a (26)________travel guide to Spain and now he is working hard to have the same (27)________with his book about Europeans. 


      23: A. in 
B. for 
C. by 
D. as 

                24: A. off
B. to
C. away
D. from

                25: A. collected
B. to collect
C. collecting
D. collection

                26: A. best-sell
B. best-sold
C. best-selling
D. best-to- sell

                27: A. succeed
B. success
C. successful
D. successfully

             Choose the best answer to the questions below:
When the typewriter was first invented, its keys were arranged alphabetically. This made the keys easy to find. However, this arrangement also caused the bars of the machine to jam, or get stuck.

To solve this problem, a new letter arrangement was introduced by Christopher Latham Scholes in 1872. His system, the standard keyboards system, is still used on keyboards today. He arranged the letters in such a way that the bars hit the inked ribbon from opposite directions as much as possible. This results in far less jamming than had occurred with the alphabetical models.

       28.The main topic is_____________________.

A. The invention of the typewriter.

B. Why the keys stick on today’s typewriter.

C. How to write a letter on the typewriter.

D.  A problem and solution concerning the early typewriter.

29.According to the passage, on the first typewriter ________.

A. The bar on the machine never jammed.

B. The keys were hard to find.

C. The keys were in alphabetical order.

D. Scholes’s system worked quite well.

30.Which of the following is NOT true about the system invented by Scholes?.

A. It was introduced in 1872.

B. It is still used today.

C. It became the standard system.

D. It was alphabetical.

31.The passage indicates that, under Scholes’s system, the bars hit the ribbon __________ .

A. In alphabetical order.

B. From opposite directions.

C. And caused the keys to jam.

D. In the same way as they had on the original typewriter.

32.The phrase “resulted in “in the last sentence is closest in meaning to ___________ .

A. Had the consequence.

B. Resulted from.

C. Began.

D. Directed.

      II/ Tự luận 

WRITING (2, 0)
A. Rewrite the following sentences in order to keep their original meanings.(1m)
1. We saw a truck and a car collapse head-on on Highway1 last night.

· A truck and a car were seen to collapse head on on Highway 1 last night.
2. Reporters say that food and medicines are delivered to the victims of the earthquake.

· Food and medicines are said to be delivered to the victims of the earthquake
3/      He didn’t obey his father’s advice and he is in trouble now
· Had  he obeyed his father’s advice, he would not be in trouble now.
4. The class consists of twenty-five children. Most of them are well-behaved.
· The class consists of twenty-five children, most of whom are well- behaved.

B. Write about your favorite subject at school.(About 80 words) (1m)
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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I/ Trắc nghiệm: 

Choose the best answer to the questions below:
When the typewriter was first invented, its keys were arranged alphabetically. This made the keys easy to find. However, this arrangement also caused the bars of the machine to jam, or get stuck.
To solve this problem, a new letter arrangement was introduced by Christopher Latham Scholes in 1872. His system, the standard keyboards system, is still used on keyboards today. He arranged the letters in such a way that the bars hit the inked ribbon from opposite directions as much as possible. This results in far less jamming than had occurred with the alphabetical models.

       1.The main topic is_____________________.

A.The invention of the typewriter.

B.Why the keys stick on today’s typewriter.

C.How to write a letter on the typewriter.

D. A problem and solution concerning the early typewriter.

2.According to the passage, on the first typewriter ________.

A.The bar on the machine never jammed.

B.The keys were hard to find.

C.The keys were in alphabetical order.

D.Scholes’s system worked quite well.

3.Which of the following is NOT true about the system invented by Scholes?.

A.It was introduced in 1872.

B.It is still used today.

C.It became the standard system.

D.It was alphabetical.

4.The passage indicates that, under Scholes’s system, the bars hit the ribbon __________ .

A.In alphabetical order.

B.From opposite directions.

C.And caused the keys to jam.

D.In the same way as they had on the original typewriter.

5.The phrase “resulted in “in the last sentence is closest in meaning to ___________ .

A.Had the consequence.

B.Resulted from.

C.Began.

D.Directed.
Choose the sentences A, B, C or D which is closest meaning to the printed one:

6.  I sent my car to the service yesterday and will take it back today.

A.My car was sent to the service yesterday and will take it back today

B.I  had my car repaired yesterday and will take it back today

C. My car has been repaired yesterday and I will take it back today.

D.My car will be taken back today after having repaired yesterday.
Choose the word that has the main stress placed differently from that of the others:

7. A. considerable
B. engineering 
  
C. economics

D.  academic

8. A. university

B. international

C. agricultural             D. philosophy

Choose the phrase or sentence a, b, c or d that best complete the conversation:

9.  A: Relax, Harry. Everything will be alright.

B: _____________________________________.

A.I'm glad you say so


C. Thanks, John. But I am really upset

B. It's OK. I'm proud of you


D. Thank you. You deserve it.
10. A: “This is a souvenir for you. I bought it when I was in Scotland."

B: “________________________________________________”.

A.Thank you very much. It’s so beautiful.

B.My pleasure. It's really nice.

C.Don't mention it. It must have cost a lot.

D.Thanks anyway.

 Choose the word or phrase a, b, c, or d that best completes the sentences:

11. Were you getting _______ well ____ your schoolmates when you were at Primary school?

A. On/ with

B. of/ with

C. with
/ on  

D. about/ on

12. ________ must satisfy the requirement for admission to the university.

A. Applications

B. applicators

C. applicants

D. Applying

13. Whenever something goes wrong, everyone ​​​​​​​________ it on me.

A. blames


B. charges

C. insists

D. accuses

14. Had he not shown such a blatant disregard for company regulations by smoking while on duty, he ________.

A.wouldn’t dismiss


C. wouldn’t be dismissed



B.wouldn’t have dismissed

D. wouldn’t have been dismissed

15. Is that the man ______ was broken into three days ago?

A.whose house



C. the house of whom



B. who’s house



D. of whom the house

16. Why don’t you have the internet________ at home? This will help you enhance your study tremendously.

A.install


B. installed

C. is installed

D. have installed

17. ________   in the country before, we were initially confused about the value of each coin..

A.Having ever been


C. Having never been



B. being never



D. Being ever
 18. The bridge……………………two years ago has just been destroyed.

             A. which it built
             B. built
          C. to be built
     D. building
        19. Trees won’t grow …………………… there is enough water.
            A. as
            B. unless
          C. if
     D. when
20 .When being interviewed, you should concentrate on what the interviewer is saying or asking you.

          A. be related to 



C. be interested in

 
    B. pay all attention to 


D. express interest to

      21. They have just found the couple and their car _______ were swept away during the heavy storm last week
           A. that 


B. which 

C. whose 

D when

      22 ______ it were well paid, I would accept this proposal.

                A. Providing 

B. Unless 

C. But for 

D If only
Choose the word that has the underlined part pronounced differently from that of the others:

23. A. interviewed

B. finished

C. worked

D. dressed
24. A. certificate

B. central

C. decision

D. social

25. A. character

B. challenge

C. technical

D. psychology

Find the mistake:

26. We are working, that means that we are contributing goods and services to our society. 

            
                   A                 B                        C                                    D
27.  When GCSEs are taken' in secondary school, they can often combined with other 
        A                                                                                                     B           C

      qualifications, or diplomas.       

                 D                                                                                                                                                                                                                                                                                                                  
                Choose the best option for each blank 
Manuel Gonzalez comes from Spain. He usually lives in Madrid and works (28)________a journalist for a Spanish newspaper, but two years ago he decided to take a year (29)________work to live in different countries in Europe and write a book about Europeans. He spent the first two months in Scandinavia (30)________information and then moved to Germany for a month. At present he is staying in Paris, where he is renting a flat for five weeks. Four years ago he wrote a (31)________travel guide to Spain and now he is working hard to have the same (32)________with his book about Europeans. 


      28: A. in 
B. for 
C. by 
D. as 

                29: A. off
B. to
C. away
D. from

                30: A. collected
B. to collect
C. collecting
D. collection

                31: A. best-sell
B. best-sold
C. best-selling
D. best-to- sell

                32: A. succeed
B. success
C. successful
D. successfully

  
II/ Tự luận 

          A/ Rewrite the following sentences in order to keep their original meanings.(1m)
1. The class consists of twenty-five children. Most of them are well-behaved.

· The class consists of twenty-five children, ………………………………………………………….
2 Reporters say that food and medicines are delivered to the victims of the earthquake.

· Food ______________________________________________.

3.He didn’t obey his father’s advice and he is in trouble now
· Had ____________________________________________________.

3. We saw a truck and a car collapse head-on on Highway1 last night.

· A car_______________________________________________.

B/. Write about your favorite subject at school.(About 80 words) (1m)
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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